Aerogen
Aerogen®
Multi-Mount
Bracket

Instructions for Use

Read and study all instructions before using
the Aerogen® Multi-Mount Bracket






Aerogen

Multi-Mount Bracket

Manufacturer
Aerogen Ltd.,

Galway Business Park,
Dangan, Galway,
Ireland

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

1



Bracket Components

Pole Basket

Rail

Front Plate Q 09
Back Plate OO O
Interface vVERVERV

@ | RorowA vERVEEV)
om | e | @ |G| ©
@ Screw C (% (%) v
T | Allen Key Qo o 9







Basket Mount




Rail Mount

17 e



Screw B Selection - Pole Diameter

M5 x 25 mm @)m
M5x30mm @) DD
M5 x35mm () I

M5 x 40 mm ) YD

| [

‘HH‘HH‘\\H‘\HW\H‘HH‘HH‘\H\ HH‘HH‘
0 10 20 30 40 50 mm




Aerogen

MHorodpyHKUMOHAAHA
ckob6a 3a MOHTaXX

I MpoussoauTen
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
WpnaHpwns

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

7



KOMMOHEHTU Ha cKOBGAaTa Treba  Kowsma Penca

o & o} | Mpeara nnoua
3apHa nnova

MHTepdenc

(i) BuHT A

M5 x 10 mm

@ BuHT B
M5 x 25, 30, 35, 40 mm

@) BuHT C

F Krtoy wecTorpam

I IS
dolioalaa
dloolelaloo







CToMKa 3a KOLWHMLUA

10



CToMKa 3a peAcat

o
T @

11



N360p Ha BUHT B - AMaMeTbp Ha NOAKOCa

s <
M5 x 25 Mm @M= -+ -~ 18 - 23 Mm
M5x30mm @ ID---+---- — | 023-28mm
M5x35mm @) - - - -~ - “«»  @28-33mm
M5x40mm @) DD - - - - - - - - ~—— 033-38mm
H: o4

‘HH‘HH‘\\H‘HHM\H‘HH‘HH‘\H\‘HH‘H\\‘
0 10 20 30 40 50 mm




Aerogen

Vicenasobny drzak

I Vyrobce
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irsko

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

13



14

Komponenty drzaku

e I d

Predni deska

Ty¢

Kosik  Kolejnice

QA A

V] V)

Zadni deska (V) (%)
Rozhrani (] (V)

I © % o

om | B e | @ || O
@ | SroubC xAExNKv)

= | mbusovy kiic Q0 o O




Drzak na tyc
| (0]

15



16

Drzak na kosik




Drzak na kolejnici

o
1T @

17



18

Vybér sroubu B - Priimér tyée

M5 x 25 mm @M= -+ 18 - 23 mm
M5x30mm @D~ ---- “— | @23-28mm
M5 x35mm @) WD - - -~ - “«——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Multimonteringsbeslag

I Producent
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irland

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

19



20

Beslagkomponenter

SiETle]

Kurv ~ Skinne

9)))

Skrue C

Frontplade Q 09
Bagplade vERvREX)
Grzenseflade vEEvREV)

@o | Skuen VERVERV)

| o | @ [T O
Q v/

V] V]

F

Unbrakonegle




e
]~

'Y
°

A

Stangmonterirr

21



22

Kurvmontering




Skinnemontering

o
1T @

23



24

Skrue B-valg - Stangdiameter

M5 x 25 mm @M= -+ 218 -23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Multimonteringsbeslag

I Producent
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irland

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

25



Halterungskomponenten stange Korb Schiene
o &9 @} | Frontplatte (v)

(Theregen J | Riickplatte V)
Verbindungsstulick O

V)

nur
25 mm

(%)
@

) Schraube A

M5 x 10 mm

hraube B
@mmm af?x 22'?:[3]0, :g 40 mm
@ Schraube C

Innensechskant-
@ schlissel

QDA A
QA A VDA




Befestigung
an Stange

27



28

Befestigung an Korb




Befestigung an Schien

)

o
1T @

29



Auswahl Schraube B - Stangendurchmesser

s <
M5 x 25 mm @M= -+ -~ 218-23 mm
M5x30mm @D~ - - “— | ©23-28mm
M5x35mm @) WD - - - ==~ - «»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~——— 033-38 mm

H: __________________ i

[T I T I T
0 10 20 30 40 50 mm

30



Aerogen

STAPLYMA TIOAAATIANRG
ToTmoO£TNONG

I KataokeuaoTnig
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
IpAavdia

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

31



32

E€aptinata Bpaxiova  swré Karddr Péaya

e I d

MTrpooTive) TTAGKa

V)

V) V)

Miow TAdKa OO O
Aiemragn Q O O

oo | BRaf, 9 9O

o | 2048 o o @ " | O
@p | Bisarl (X BN xENv]

T | Knedi arev Q0 o o




b3 a
™
'tortnglYu
0€tn
o
| (0]

yla
otTat
6

3

®
B
& :
A
B

33



STAPLYMA TOTIOOETNONG YA KAAAOL

34



L
17 (e

35



36

EmuAoyn Bidag B - Alduetpog otatod

M5 x 25 mm @M= -+ -~ 18 - 23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - “«——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[T I T I T

0 10 20 30 40 50 mm




Aerogen

Soporte de montaje multiple

I Fabricante
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irlanda

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

37



38

Componentes del soporte Poste Cesta Riel

e I d

Placa frontal

V)

Y
(Coresen )

Placa trasera

V)

F

V) v

V) Q

Interfaz vERvREKV)

G | JomioA VERVERV)
gm | Jenlel.. | @ | O
@D | TomiloC xAExNKv)
Llave Allen vEEvREV)




en poste

39



40

Montaje en cesta




Montaje en riel

o
T @

41



42

Seleccidén del tornillo B - Diametro del poste

s <
M5 x 25 mm @M= -+ -~ 18 - 23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— 033-38mm
H: __________________ i
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Mitme kinnitusega
kronstein

I Tootja
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
lirimaa

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

43




44

Kronsteini osad

Korv

T
o

el
@
=

Esiplaat Q 09
Tagaplaat (vERv RN x]
Liides vVERVERV

oo | Kwin, VRN EEV)

om | KB e | @A O
ap | ki Q0 O

T | Kuuskantvsti vEEvREV)




Postikinnitus
| (0]
,’//\

45



46

Korvikinnitus




Siinikinnitus

o
T @

47



48

Kruvi B valik - posti 1abimoot

M5 x 25 mm @M= -+ 0 18-23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - “~——  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©33-388mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Moniasennusteline

Valmistaja
M Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irlanti

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

49



50

Kiinnikkeen osat

Teline

Kori

Kisko

9)))

Ruuvi C

(%)

Etulevy Q 09
Takalevy vERvREX)
Liitants vERvREKV)

g | Ruid VERVREV)

| B R | @ % O
Q v/

V) v/

F

Kuusiokoloavain

o




TeIineasennusF\\
(0]

51



52

Koriasennus




Kiskoasennus

o
T @

53



54

Ruuvin B valinta - telineen halkaisija

M5 x 25 mm @M= -+ 218 -23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Support multimontage

I Fabricant
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irlande

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

55



56

Composants du support Mat  Panier

e I d

Plaque avant

Rail

Y
(Coresen )

Plaque arriere

QA A

V) V)

V) [X)

Interface () ()

)T - . VRN EEV)
B
@p |VisC Q0 G
| cléAllen Q 09




Montage
sur mat

57



58

Montage sur panier




Montage sur rail

o
T @

59



Sélection de vis B - Diameétre du mat

s <
M5 x 25 mm @M= -+ -~ ©18-23 mm
M5x30mm @D~ - - “«— | ©23-28mm
M5x35mm @) WD - - - ==~ - «»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~——— 033-38mm
H:__________________J
[T I T I T
0 10 20 30 40 50 mm

60



Aerogen

Visenamjenski

I Proizvodac
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irska

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

61



62

Dijelovi nosaca

e I d

Prednja plo¢ica

Kosara Vodilica

—_——
(Coresen )

Straznja plogica

Spojni zglob

Vijak A

M5 x 10 mm

Vijak B

M5 x 25, 30, 35, 40 mm

9)))

Vijak C

F

Imbus klju¢

QDA A QA

V)
V)
V)
V)
(%)
@

QA A VDA




Montaza

63



64

Montaza na kosaru




Montaza na vodilicu

| o
L@

65



66

Izbor vijka B - promjer stupa

M5 x 25 mm @M= -+ 218 -23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Univerzalis konzol

Gyarté

Aerogen Ltd.,

Galway Business Park,
Dangan, Galway,
irorszag

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

67



68

A konzol elemei

Oszlop Kosar

Sin

Elélap Q 09
Hatlap 9 O
Adapter vVERVERV

oo | oy VERVERV)

om | B ., | @[S O
@D | Cocsavar Q0O

| mbuszkules vEEvREV)




Oszloptartdé (Q
(0]

69



70

Kosartarto




Sintarté

o
@

71



B csavar kivalasztasa - oszlop atmérdje

s <
M5 x 25 mm @M= -+ -~ 218 -23 mm
M5x30mm @D~ ---- “— | @23-28mm
M5 x35mm @) WD - - -~ - ~»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~———— 033-38mm
H:__________________J

‘HH‘HH‘\\H‘HHM\H‘HH‘HH‘\H\‘HH‘H\\‘
0 10 20 30 40 50 mm




Aerogen

Festing fyrir margar
uppsetningar

I Framleidandi
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
irand

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

73



74

ihlutir festingar

Sténg

Karfa

Teinn

Framplata Q 09
Bakplata OO O
viemot vVERVERV

o | kdfan VERVERV)
omm | KRB, o @ || O
@p | SkrifaC Q0 G
T | sexkantur vEEvREV)




E

Stangarfesting=<

75



76

Korfufesting




Teinsfesting

o
T @

77



Val skrufu B - pvermal stangar

78

M5 x 25 mm @jm) _________
M5x30mm @D+ -- - L.
M5x35mm @) WD - - - - ==~ - -

M5 x 40 mm @) D - - - - - - - - —

| [

Pvermédl 18 - 23 mm
Pvermal 23 - 28 mm
Pvermédl 28 - 33 mm

Pvermél 33 - 38 mm

‘HH‘HH‘HH‘\HW\H‘HH‘HH‘HH
0 10 20 30 40

50 mm




Aerogen

Staffa per montaggio
multiplo

I Produttore
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irlanda

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

79



80

Componenti della staffa rintana cestello  sponda

e I d

Piastra frontale

Y
(Coresen )

Piastra posteriore

QA A

Interfaccia
Vite A
@m M5 x 10 mm O
@ Vite B 25 mm
M5 x 25, 30, 35, 40 mm soltanto

9)))

Vite C

(%)

F

Chiave a brugola

QDA A

o

QA A VDA




Montaggio

su piantana

81



82

Montaggio su cestello




Montaggio su sponda

o
1T @

83



Selezione della vite B - Diametro della piantana

s <
M5 x 25 mm @M= -+ -~ 218 -23mm
M5x30mm @D~ - - “«— | ©23-28mm
M5x35mm @) WD - - - ==~ - ~»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~——— ©33-38mm
H: __________________ i

‘HH‘HH‘\\H‘HH‘HH‘HH‘HH‘\H\
0 10 20 30 40 50 mm




Aerogen

Daugiafunkcis rémelis

Gamintojas

Aerogen Ltd.,

Galway Business Park,
Dangan, Galway,
Airija

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

85



86

Rémelio komponentai

e I d

Priekiné plokste

Stulpas Krepsys

V)

Bégelis

—_——
(Coresen )

Galiné ploksté

V)

Sasaja O
A varztas
@m M5 x 10 mm O
@ B varztas 25 mm
M5 x 25, 30, 35, 40 mm tik

9)))

C varztas

(%)

F

Sesiakampis raktas

QDA A

o

QA A VDA




Stulpo
tvirtinimas

87



88

KrepsSio tvirtinimas




Bégelio tvirtinimas

o
1T @

89



Varzto B pasirinkimas - stulpo skersmuo

s <
M5 x 25 mm @M= -+ -~ 218 -23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - ~»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~———— 033-38mm
H: __________________ i
[T I T I T
0 10 20 30 40 50 mm

90



Aerogen

Vairaku stiprinajumu
kronsteins

Razotajs
M Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Trija

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

91




92

Kronsteina sastavdalas  kars Grozs Sliede

e I d

Priek$eja plaksne

Y
(Coresen )

Aizmuguréja plaksne

QA A

< <

V) Q

Saskarne (v] ()

go | Aslve 9 9 9
Qmm | Bskwve @ |G | O
@m | C skrive xAExNKv)
T | seskante vEEvREV)




Karts veida

stiprinajums

93



Groza veida stiprinajums

94



Sliezu veida stiprinaju

A

m

95



B skrives izvele — karts diametrs

96

M5 x 25 mm @M= -+ ©018-23 mm
M5x30mm @D~ - - “— | ©23-28mm
M5x35mm @) WD - - - ==~ - «—— | 228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— 083-38mm
[NRNRRNARRRNAANEY

[ I J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Multimonteringsbrakett

I Produsent
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irland

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

97



98

Brakettkomponenter

Stativ

Kurv ~ Skinne

llE Frontplate
Bakplate

Grensesnitt

ao | BKien
@ mmm %( X lzjse sE’ 35,40 mm

0)))) Skrue C
Unbrakongkkel

F

QDA A

V)
V)
V)
V)
(%)
@

QA A VDA




Stativfeste (Q
(0]

99



Kurvfeste

100



Skinnefeste

o
T @

101



Skrue B-valg - stolpediameter

M5 x 25 mm @M= -+ -~ ©018-23 mm
M5x30mm @D~ - - “— | ©23-28mm
M5x35mm @) WD - - - ==~ - «—— | 228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— 083-38mm
[NRNRRNARRRNAANEY

[ I J
[T I T I T
0 10 20 30 40 50 mm

102



Aerogen

Multi-bevestigingsbeugel

I Fabrikant
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
lerland

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

103



104

Beugelonderdelen

Standaard  Mand

Rail

Voorplaat Q 09
Achterplaat OO O
Interface vVERVERV

oo | SehroetA 9 0|9
om | 2SS | @ R | ©
@D | SchroefC Q0 G
| inbussleutel vEEvREV)




stiging

i

A

Standaardbev

105



Mandbevestiging

106



Railbevestiging

o
1T @

107



Schroef B selectie - diameter standaard

s <
M5 x 25 mm @M= -+ -~ 18 - 23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— 033-38mm
H: __________________ i
[T I T I T
0 10 20 30 40 50 mm

108



Aerogen

Uniwersalny uchwyt
mocujacy

I Producent
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irlandia

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

109




Elementy uchwytu Slup  Kosz Szyna

ll‘E Plytka przednia

Plytka tylna

QA A

Interfejs

) Sruba A

M5 x 10 mm

25 mm

@ Sruba B
M5 x 25, 30, 35, 40 mm tylko

0))) Sruba C

QDA A
Q
QA A VDA

F Klucz imbusowy

110



Montaz na
stupie

111



Montaz w koszu

112



113

Montagem em calha

o
1T @



Wybor sruby B — srednica stupa

114

M5 x 25 mm @M= -+ 0 18-23 mm
M5x30mm @D~ ---- “— | @23-28mm
M5 x35mm @) WD - - -~ - “~——  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©33-388mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Suporte de montagem
multipla

I Fabricante
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irlanda

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

115




Componentes do suporte Poste Cesto Calha

o &9 @} | Placa dianteira O
Placa traseira (V)
Interface O

(i) Parafuso A

M5 x 10 mm
@ Parafuso B 25 mm
M5 x 25, 30, 35, 40 mm apenas

@) Parafuso C

F Chave Allen

(%)
@

QDA A
QA A VDA

116



Montagem
em poste

117



Montagem em cesto

118



119

Montagem em calha

o
1T @



Selecdo do parafuso B - Diametro do poste

s <
M5 x 25 mm @M= -+ -~ 18 - 23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— 033-38mm
H: __________________ i
[T I T I T
0 10 20 30 40 50 mm

120



Aerogen

Suport multiplu

I Produciator
Aerogen Ltd.,

Galway Business Park,

Dangan, Galway,
Irlanda

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

121



Componentele suportului stap  Cos

llﬁ Placa frontala O

Placa posterioara (V)

Interfata O

) Surubul A

V)

M5 x 10 mm
@ Surubul B 25 mm
M5 x 25, 30, 35, 40 mm numai

9) Surubul C

(%)

QDA A

F Cheie imbus O

QA A A A

122



Suport pe

123



Suport pe cos

124



Suport pe sina

o
T

125



Selectia surubului B - Diametrul stalpului

s <
M5 x 25 mm @M= -+ -~ 18 - 23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «»  @28-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— 033-38mm
H: __________________ i
[T I T I T
0 10 20 30 40 50 mm

126



Aerogen

Viachasobna montazna
konzola

I Vyrobca
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
irsko

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

127



Komponenty konzoly Ty Kodk Kofajnica

llﬁ Predna doska

Zadna doska

QA A

Rozhranie

) Skrutka A

M5 x 10 mm

25 mm

Skrutka B
@m M5 x 25, 30, 35, 40 mm iba

@) Skrutka C

QDA A
7| Q
QA A VDA

F Imbusovy kltg

128



Tycovy driiakf\\
(0]

129



Drziak na kosik

130



Drziak na kolajnice

o
1T @

131



Vyber skrutky B - Priemer tycCe

132

M5 x 25 mm @M= -+ 218 -23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Vechamenski nosilec

Proizvajalec
M Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irska

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

133



Komponente nosilca Drog Kosara Vodilo

o & e} | Sprednia plosca
Zadnja plo$¢a

Vmesnik

o Vijak A

M5 x 10 mm

Vijak B
@ mmm Mslx 25,30, 35, 40 mm

9))) Vijak C

F Sestkotni kljué

QA A VDA

V)
V)
V)
V)
(%)
@

QDA A

134



Nosilec drogar\\
(0]

135



Nosilec kosare

136



Nosilec vodila

o
T @

137



Izbira vijaka B - premer droga

M5 x 25 mm @)m
M5x30mm @) DD
M5 x35mm () I

M5 x 40 mm ) YD

| [

‘HH‘HH‘\\H‘\HW\H‘HH‘HH‘\H\ HH‘HH‘
0 10 20 30 40 50 mm

138



Aerogen

Multimonteringsfaste

I Tillverkare
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
Irland

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A I:Ii] P/N 30-1689 Rev B.01

139



Fastets komponenter Stdng Korg Skena

o &9 e} | Frontplat

(Cerosen ) | Bakpiat

QA A

Granssnitt

) Skruv A

M5 x 10 mm

25 mm

iy Skruv B
M5 x 25, 30, 35, 40 mm endast

@) Skruv C

QDA A
Q
QA A VDA

F Insexnyckel

140



Stangféiste (Q
(0]

141



Korgfaste

142



Skenfaste

o
@

143



Val av skruv B - Stdngdiameter

144

M5 x 25 mm @M= -+ 218 -23 mm
M5x30mm @D~ - - “— | @23-28mm
M5x35mm @) WD - - - ==~ - «——  228-33mm
M5 x 40 mm @) DD - - - - - - - - ~—— ©083-38mm
[NRNRRRERRARRRANANY|

[ LTI J
[T I T I T
0 10 20 30 40 50 mm




Aerogen

Coklu Montaj Braketi

I imalatg
Aerogen Ltd.,
Galway Business Park,

Dangan, Galway,
ianda

US. +1(866) 423-7643
e. info@aerogen.com
W. Www.aerogen.com

A\ ]

P/N 30-1689 Rev B.01

145



146

Braket Bilesenleri

Direk

Sepet

Ray

On Plaka Q 09
Arka Plaka OO O
Ara birim vVERVERV)

@ | Ve 9 0|9
om | 928 o o @ |5 ©
@D | VidaC (x BN xBNv]
| Avan Anantan Q0 o O




Direk Montaji (Q
(]

147



Sepet Montaji

148



Ray Montaji

o
T @

149



Vida B Secimi - Direk Capi

M5 x 25 mm @)m
M5x30mm @) DD
M5 x35mm () I

M5 x 40 mm ) YD

| [

‘HH‘HH‘\\H‘\HWH\‘HH‘HH‘HH HH‘HH‘
0 10 20 30 40 50 mm

150






Aerogen

wl

Manufacturer

Aerogen® Ltd.

Galway Business Park
Dangan, Galway, H91 HE94
Ireland

US. +1(866) 423-7643
e. info@aerogen.com
y. www.aerogen.com

© October 2023 Aerogen Ltd.
AG-PX1187-US
P/N 30-1689 Rev B.01




